S GRINEEERI PRGN

I T A, LE

Website: www.khulnashipyard.com, E-mail : oiccomlksy@gmail.com, dgm.candp@gmail.com

......................... R 72 AfF-0e/2¢/2¢-2v
......................... S 9-0b-203¢
AR ©iffds Qbr-ob-203¢

T8 35-vo THH
ferxr rm,

fagfeife gy e RH3AI0e TR TR & AN FR (A0S Ty P Ol W= T AR |
SRR o SIfeTT SR S B IS iR STRE S 0o }A |

SR ERED

S
G I RARAPET o7

Ter Fififens FxFe!
ATF AR TIREF

BICICICENSEEL

AT AT TS ST (OIF 268 (T2 F) Wl T

fRems 5 | wA9@ AN e T/ dBSHIA Mo N SEd FA0O U | VAR 7a9q IfeeT 0T o5 Z0o
AT |
3| OR (AR TN iAW (9 Toie/ e AFE ©f OITHaE (BT (AEF AN GO
T 6 TABS (AT T T @ | GTF (AEF 2RTete GOR TfFe @ Sfears|/

TS QXTI I |
ififems =mar IEUIEER DRGSR EIEEAREAE)
SR S DR AT *S [ Fferart e | EESEIESIIEERCIR ]
5 flqae -
G (FE Te-
b SR @« -

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc 27



v,
SAVPYaR,

G <
&
£l /l‘u H
3 4
* *
1957
& <Y
Q S
\Stapesy N

e o33e ferfoe

I T A, LE

Website: www.khulnashipyard.com, E-mail : oiccomlksy@gmail.com, dgm.candp@gmail.com

o TR A[-0¢/26/2€-2Y
i 25-0b-203¢
T SIfes Sb-ob-203¢

(SRIHMELERIE)
w3 e R aFF | AR T R (939 &ff)
1. | Pulley-12" No 06 | Per No Tk:
2. | Pulley-10" No 20 | Per No Tk:
3. | Fiber Disk-7" No 429 | Per No Tk:
4. | Screw Driver-7" No 74 | PerNo Tk:
5. | Bearing -ODxIDxThk (140x89x45)mm No 05 | PerNoTk:
6. | Bearing -ODxIDxThk (128x65%25)mm No 02 | PerNoTk:
7. | Bearing -ODxIDxThk (125x76x25)mm No 04 | PerNo Tk:
8. | Bearing -ODxIDxThk (120x65%28)mm No 03 | PerNoTk:
9. | Bearing -ODxIDxThk (240x114x50)mm No 02 | PerNoTk:
10.| Jubilee Clamp-9" No 56 | PerNoTk:
11.| Jubilee Clamp (Bolt Type)-6" No 08 | PerNoTk:
12.| Jubilee Clamp-6" No 12 | Per No Tk:
13.| Jubilee Clamp (Bolt Type)-9" No 97 | PerNo Tk
14.| Bearing-22224 CAMKE4 No 03 | PerNo Tk:
15.| Bearing -ODxIDxThk (200x110x40)mm No 01 | PerNoTk:
16.| Bearing -ODxIDxThk (200%134x45)mm No 01 | PerNoTk:
17.| Bearing-6307-RS1/QE6 No 02 | PerNoTk:
18.| Bearing -ODxIDxThk (110x48x27)mm No 02 | PerNoTk:
19.| Bearing -ODxIDxThk (128x30x60)mm No 01 | PerNoTk:
20.| Bearing -ODxIDxThk (90x55x10)mm No 06 | PerNoTk:
21.| Bearing -ODxIDxThk (76x52x58)mm No 03 | PerNo Tk:
22.| Bearing -ODxIDxThk (80x42x30)mm No 04 | PerNoTk:
23.| Bearing -ODxIDxThk (100x48x20)mm No 01 | PerNoTk:
24.| Bearing -ODxIDxThk (88x54x17)mm No 01 | PerNoTk:
25.| Bearing -ODxIDxThk (78x35x20)mm No 01 | PerNoTk:
26.| Bearing -ODxIDxThk (200x95x45)mm No 01 | PerNoTk:
27.| Bearing -ODxIDxThk (188%110x65)mm No 01 | PerNoTk:
28.| Bearing -ODxIDxThk (215x170x35)mm No 02 | PerNoTk:
29.| Bearing -ODxIDxThk (180x100%35)mm No 02 | PerNoTk:
30.| Bearing -ODxIDxThk (160x89x40)mm No 02 | PerNoTk:
31.| Bearing -ODxIDxThk (210x140x35)mm No 02 | PerNoTk:
32.| Bearing -ODxIDxThk (210x155x60)mm No 02 | PerNoTk:
33.| Bearing -ODxIDxThk (200x130x50)mm No 02 | PerNoTk:
34.| Jubilee Clamp (Bolt Type)-11/2" No 29 | PerNoTk:
35.| Jubilee Clamp (Bolt Type)-1'/4" No 46 | Per No Tk:
36.| Jubilee Clamp (Bolt Type)-1" No 22 | PerNoTk:
37.| Jubilee Clamp (Bolt Type)-2" No 02 | PerNoTk:
38.| Jubilee Clamp-6" No 03 | PerNo Tk:
39.| Jubilee Clamp-3" No 02 | PerNo Tk:
40.| Jubilee Clamp-2" No 13 | PerNo Tk:
41.| Jubilee Clamp-11/2" No 01 Per No Tk:
42.| Bearing-6312 No 01 | PerNoTk:
43.| Bearing-6307 U1 89-10 No 01 Per No Tk:
44.| Bearing-6206zz/2AU1 No 02 | PerNoTk:

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc

28




45.| Bearing-209 No 02 | PerNoTk:
46.| Bearing-1209EKTN9 No 01 Per No Tk:
47.| Bearing -ODxIDxThk (55x24x15)mm No 01 | PerNoTk:
48.| Bearing -ODxIDxThk (180x100x35)mm No 01 | PerNoTk:
49.| Bearing-3218 No 02 | PerNo Tk:
50.| Bearing -ODxIDxThk (140x64x34)mm No 01 | PerNoTk:
51.| Bearing1601 5A No 02 | PerNo Tk:
52.| Bearing -ODxIDxThk (105x55%34)mm No 01 | PerNoTk:
53.| Bearing-6207zz/2ASU1 No 02 | PerNoTk:
54.| Bearing -ODxIDxThk (78x50x40)mm No 07 | PerNo Tk:
55.| Bearing -ODxIDxThk (35%15x16)mm No 06 | PerNoTk:
56.| Bearing -ODxIDxThk (78x50x22)mm No 03 | PerNoTk:
57.| Bearing -ODxIDxThk (160x90x40)mm No 03 | PerNo Tk:
58.| Bearing -ODxIDxThk (190x105%35)mm No 01 | PerNoTk:
59.| Bearing -ODxIDxThk (100x48x25)mm No 11 | Per No Tk:
60.| Bearing -ODxIDxThk (190x130%x45)mm No 01 | PerNoTk:
61. Bearing-20324 No 01 Per No Tk:
62.| Bearing -ODxIDxThk (120x65%x25)mm No 02 | PerNo Tk:
63.| Bearing-6203zz CM/5K No 03 | PerNoTk:
64.| Bearing-6306-zz No 01 Per No Tk:
605.| Bearing -ODxIDxThk (48x20x15)mm No 01 | PerNoTk:
66.| Jubilee Clamp-7" No 01 Per No Tk:
67.| Jubilee Clamp-1/4" No 23 | PerNo Tk:
68.| Jubilee Clamp-1" No 17 | PerNo Tk:
69.| Jubilee Clamp-3" No 04 | PerNo Tk:
70.| Filler Gauge No 02 | PerNoTk:
71.| Jubilee Clamp (Bolt Type)-2" No 06 | PerNoTk:
72.| Jubilee Clamp-11/," No 18 | Per No Tk:
73.| Jubilee Clamp-2" No 19 | PerNo Tk:
74.| Jubilee Clamp-3/" No 04 | PerNo Tk:
75.| Bulkhead Carbon No 05 | PerNoTk:
76.| Stone (Cutter Dimond) No 01 | PerNoTk:
77.| Scale No 05 | PerNoTk:
78.| Bearing-6204-zz/C3 No 24 | Per No Tk:
79.| Bearing-2307 No 04 | PerNo Tk:
80.| Bearing-6301zz No 04 | PerNoTk:
81.| Bearing-3308 ATN9 No 02 | PerNo Tk:
82.| Bearing-6209z No 02 | PerNo Tk:
83.| Bearing-6309zz/C3 No 02 | PerNoTk:
84.| Bearing -ODxIDxThk (260x190x70)mm No 02 | PerNo Tk:
85.| Bearing -ODxIDxThk (170x76x60)mm No 01 | PerNoTk:
86.| Bearing -ODxIDxThk (130x60x45)mm No 01 | PerNoTk:
87.| Bearing -ODxIDxThk (130x60x30)mm No 02 | PerNo Tk:
88.| Bearing-NU207ECM No 03 | PerNoTk:
89.| Bearing-32210A No 05 | PerNo Tk:
90.| Bearing-51106 No 04 | PerNoTk:
91.| Bearing-6311 No 01 Per No Tk:
92.| Bearing -ODxIDxThk (140x80x45)mm No 01 | PerNo Tk:
93.| Bearing -ODxIDxThk (140x55x33)mm No 01 | PerNoTk:
94.| Jubilee Clamp (Bolt Type)-7" No 16 | Per No Tk:
95.| Jubilee Clamp (Bolt Type)-5" No 15 | Per No Tk:
96.| Jubilee Clamp (Bolt Type)-8" No 07 | PerNoTk:
97.| Jubilee Clamp (Bolt Type)-7" No 01 | PerNo Tk:
98.| Jubilee Clamp (Bolt Type)-5" No 01 | PerNoTk:

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc

29




99.| Jubilee Clamp-12" No 12 | Per No Tk:
100} Bearing-32210 No 07 | PerNo Tk:
101/ Bearing-205 ECP No 02 | PerNo Tk:
102/ Bearing -ODxIDxThk (30x08x27)mm No 01 | PerNoTk:
103} Bearing-NK 30720 No 01 Per No Tk:
104/ Bearing-72048 No 02 | PerNoTk:
105/ Bearing -ODxIDxThk (50x30x15)mm No 01 | PerNoTk:
106/ Bearing Ball No 36 | PerNoTk:
107/ Bearing -ODxIDxThk (180x100x35)mm No 02 | PerNoTk:
108/ Bearing -ODxIDxThk (170x80x40)mm No 06 | PerNo Tk:
109/ Bearing- ODxIDxThk (190x82x40)mm No 06 | PerNoTk:
110/ Bearing -ODxIDxThk (190x80x40)mm No 06 | PerNoTk:
111} Oxygen Meter Set No 04 | PerNo Tk:
112} Adjustable Sapnner-18" No 02 | PerNoTk:
113} Dvider-8" No 05 | PerNoTk:
114/ Dhal Wrench-(18-21)mm No 02 | PerNoTk:
115} Spring Loaded Radiator Pressure Cap No 02 | PerNoTk:
116| Begin Bearing No 01 Per No Tk:
117} Spring No 10 | Per No Tk:
118] Clamp-3/4" No 141 | Per No Tk:
119| Clamp-1" No 30 | PerNoTk:
120/ Clamp-13/," No 08 | PerNo Tk:
121} Clamp-2'/," No 18 | Per No Tk:
122} Jubilee Clamp (Bolt Type)-(DN-40) No 12 | Per No Tk:
123/ Jubilee Clamp (Bolt Type)- (DN-48) No 11 | Per No Tk:
124/ Bearing -ODxIDxThk (95x60x18)mm No 01 | PerNoTk:
125/ Bearing -ODxIDxThk(200x119x%45)mm No 01 | PerNoTk:
126/ Bearing -ODxIDxThk (130x58x30)mm No 01 | PerNo Tk:
127| Bearing -ODxIDxThk (125x69x25)mm No 01 | PerNoTk:
128/ Bearing -ODxIDxThk (80x40x30)mm No 01 | PerNo Tk:
129/ Bearing -ODxIDxThk (85x45x20)mm No 02 | PerNoTk:
130/ Bearing -ODxIDxThk (120x53x30)mm No 01 | PerNoTk:
131/ ORing No 10 | Per No Tk:
132} Pipe Wrench-18" No 04 | PerNoTk:
133/ ORing No 100 | Per No Tk:
134] Safety Harness No 06 | PerNoTk:
135] Filter No 01 Per No Tk:
136/ Filter No 01 Per No Tk:
137] Turk Wrench No 01 | PerNoTk:
138 Grinding Disk-7" No 1225 | Per No Tk:
139| Gas Cutting Torch No 02 | PerNo Tk:
140} Kornik No 30 | PerNoTk:
141} Armature No 05 | PerNoTk:
142| Measuring Scale No 02 | PerNoTk:
143| Temperature Meter No 12 | Per No Tk:
144/ Pickup Cable No 02 | PerNo Tk:
145/ Brake Cable No 01 | PerNoTk:
146| Bearing -ODxIDxThk (52x25%15)mm No 05 | PerNoTk:
147| Bearing -ODxIDxThk (46x32x15)mm No 07 | PerNoTk:
148/ Bearing -ODxIDxThk (60x48x30)mm No 02 | PerNo Tk:
149| Bearing -ODxIDxThk (47x20x15)mm No 01 | PerNo Tk:
150/ Bearing -ODxIDxThk (26x10x09)mm No 02 | PerNoTk:
151} Bearing -ODxIDxThk (26x10x08)mm No 04 | PerNo Tk:
152| Bearing -ODxIDxThk (95x80x35)mm No 01 | PerNoTk:

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc

30




153| Coker Machine No 54 | Per No Tk:
154| Pressure Sensor No 01 Per No Tk:
155| Die Cutter-3/4" No 02 | PerNo Tk:
156/ Die Cutter-1/," No 02 | PerNo Tk:
157| Die Cutter No 01 Per No Tk:
158 MS Round Rod/ Bar,@xL=19mmx180' KG 15 Per KG Tk:
159] MS Round Rod/ Bar,@xL=32mmx21'-11" KG 21 Per KG Tk:
160; MS Round Rod/ Bar,@xL=67mmx4'-2" KG 16 Per KG Tk:
161] MS Hexagonal Bar,@xL=25mmx6'-10" KG 11 Per KG Tk:
162| MS Hexagonal Bar,@xL=55mmx2'-7" KG 39 Per KG Tk:
163| MS Hexagonal Bar,@xL=64mmx1'-4" KG 30 Per KG Tk:
164| MS Hexagonal Bar,@xL=74mmx1'-5" KG 04 Per KG Tk:
165 MS Hexagonal Bar,@xL=89mmx3'-5" KG 06 Per KG Tk:
166] SS Round Rod/Bar,@xL=10mmx45' KG 1.55 | Per KG Tk:
167 SS Round Rod/Bar,@xL=16mmx45' KG 1.80 | Per KG Tk:
168] SS Round Rod/Bar,@*xL=19mmx26' KG 1.46 | Per KG Tk:
169] SS Round Rod/Bar,@xL=25mmx78'-4" KG 07 Per KG Tk:
170] SS Round Rod/Bar,@xL=30mmx15'-4" KG 02 | PerKG Tk:
171] SS Round Rod/Bar,@*xL=32mmx13'-8" KG 02 Per KG Tk:
172] SS Round Rod/Bar,@xL=38mmx8'-10" KG 27 | PerKG Tk:
173] SS Round Rod/Bar,@*xL=40mmx73'-10" KG 30 Per KG Tk:
174] SS Round Rod/Bar,@xL=45mmx17' KG 05 Per KG Tk:
175 SS Round Rod/Bar,@xL=50mmx17'-11" KG 05 | PerKGTk:
176] SS Round Rod/Bar,@*xL=57mmx5'-5" KG 20 Per KG Tk:
177} SS Round Rod/Bar,@xL=70mmx3'-4" KG 36 | Per KG Tk:
178] SS Round Rod/Bar,@xL=76mmx10" KG 43 Per KG Tk:
179] SS Round Rod/Bar,@*xL=80mmx2'-7" KG 84 Per KG Tk:
180] SS Round Rod/Bar,@xL=101mmx2' KG 03 | PerKGTk:
181] SS Hexagonal Bar,@xL=12mmx5'-4" KG 01 Per KG Tk:
182] SS Hexagonal Bar,@xL=18mmx9'-3" KG 1.8 | PerKG Tk:
183] SS Hexagonal Bar,@xL=22mmx9'-3" KG 2.7 | Per KG Tk:
184| SS Hexagonal Bar,@xL=32mmx12' KG 19 | PerKG Tk:
185] SS Hexagonal Bar,@xL=38mmx14"-5" KG 13 | PerKG Tk:
186/ SS Hexagonal Bar,@xL=46mmx20'-5" KG 19 Per KG Tk:
187] SS Hexagonal Bar,@xL=55mmx2'-9" KG 51 | PerKG Tk:
188] Brass Round Rod/Bar,@xL=19mmx4'-8" KG 05 Per KG Tk:
189] Brass Round Rod/Bar,@xL=24mmx5'-7" KG 07 Per KG Tk:
190] Brass Round Rod/Bar,@xL=32mmx21'-3" KG 05 | PerKGTk:
191] Brass Round Rod/Bar,@xL=38mmx5'-5" KG 13 Per KG Tk:
192] Aluminum Rod/Bar,@xL=30mmx15'-10" KG 16 Per KG Tk:
193] Aluminum Rod/Bar,@xL=32mmx3'-2" KG 1.3 | PerKG Tk:
194] Aluminum Rod/Bar,@xL=36mmx22'-9" KG 7.5 | PerKG Tk:
195| Aluminum Rod/Bar,@xL=47mmx14'-1" KG 14 | PerKG Tk:
196/ Aluminum Rod/Bar,@xL=48mmx4'-9" KG 13 Per KG Tk:
197] Teflon Bar,@xL=103mmx9'-1" KG 19 Per KG Tk:
198] Teflon Bar,@xL=146mmx3' KG 120 | Per KG Tk:
199 MS Shaft,@xL.=90mmx18' KG 44 | Per KG Tk:
200; MS Shaft,@xL=101mmx6'-10" KG 191 | Per KG Tk:
201] MS Shaft,@xL=121mmx6"'-4" KG 110 | Per KG Tk:
202| MS Shaft,@xL=134mmx6' KG 16 | Per KG Tk:
203| MS Shaft,@xL=202mmx9'-1" KG 75 | Per KG Tk:
204| SS Shaft,@xL=101mmx13'-8" KG 150 | Per KG Tk:
205| SS Shaft,@xL=205mmx1'-6" KG 470 | Per KG Tk:
206/ MS Angle,65X65x12000x8 mm Ton 08 | PerTonTk:

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc

3




207| Fire Not suit Set 03 | Per Set Tk:
208| Stove Kerosine No 01 Per No Tk:
209] Aluminum Flat Bar-2" X 10’ Pcs 27 | Per Pcs Tk:
210| Aluminum Flat Bar-3" X 10’ Pcs 32 | PerPcs Tk:
211 MS Flat Bar 75mm x 5 mm x 10’ Kg 45 | Per KG Tk:
212| MS Flat Bar 50mm X 5mm x 10’ Kg 18 | Per KG Tk:
213/ Aluminum ‘H’ Beam %" x 10’ Pcs 15 | Per Pcs Tk:
214/ Aluminum ‘U’ Channel %" x 10’ Pcs 24 | Per Pcs Tk:
215| Gl Channel Various size Pcs 35 | PerPcs Tk:
216/ Fire Hydrant Valve 2" Pcs 47 | PerPc Tk:
217| Head Nozzle 2'/,” Pc 01 | PerPcTk:
218| Head Nozzle 1'/2” Pcs 09 | PerPcTk:
219| Fire Nozzle 21/, Pcs 07 | PerPc Tk:
220| Fire Nozzle 11/, Pcs 07 | PerPc Tk:
221] Fire Nozzle 2 Pcs 08 | PerPc Tk:
222| Male Coupling 2 Pcs 08 | PerPcTk:
223| Male Female Coupling 2 Set 05 | PerSetTk:
224| Aqua Foam Gallon | 05 | Per Gallon Tk:
225| Rubber Hose 42mm Meter | 6.09 | Per Meter Tk:
226/ Rubber Hose %" Meter | 4.57 | Per Meter Tk:
227| Rubber Hose 2” Meter 01 Per Meter Tk:
228| Fire Hose 21/y” Meter | 30 | Per Meter Tk:
229| Fire Hose Box half round Pcs 24 | Per Pc Tk:
230/ Tig rod 316L GTS Kg 595 | PerKg Tk:
231} TigRod S221 4mm Kg 80 | PerKg Tk:
232/ TIG-50 (2.4mm X 915mm) Kg 370 | Per Kg Tk:
233| Hydraulic Hose %" (Long) Nos. 08 | PerNoTk:
234/| Hydraulic Hose %" (Short) Nos. 27 | PerNo Tk:
235/ Hydraulic Hose /2" (Short) Nos. 02 | PerNoTk:
236/ Hydraulic Hose 1” (Short) Nos. 17 | Per No Tk:
237| Exhaust Hose Pipe 8" (6 feet 8”) Nos. 01 | PerNoTk:
238| Exhaust Hose Pipe 3” (3 feet 8”) Nos. 01 | PerNoTk:
239| Exhaust Hose Pipe 50mm (3 feet 2”) Nos. 02 | PerNo Tk:
240/ Nylon Pipe 2 Meter | 4.57 | Per Meter Tk:
241/ Plain Glass 5mm X 12" X 15” Nos. 30 | PerNoTk:
242| Plain Glass 8mm X 18" X 24" Nos. 10 | PerNo Tk:
243| Mirror Tray Nos. 06 | PerNo Tk:
244| SS Male Coupling 11/, Nos. 15 | Per No Tk:
245| Hose Nipple 3" Nos. 01 Per No Tk:
246/ Coupling 1” Nos. 02 | PerNo Tk:
247| Hose Nipple 2" Nos. 24 | Per No Tk:
248| Rubber hose 21/,” Meter | 05 | Per Meter Tk:
249| Stand View Mirror Nos. 01 Per No Tk:
250] Hydraulic Hose 1'/4” (Short) Nos. 04 | PerNoTk:
251| Plain Glass 11mm X 30" X 30” Nos. 04 | Per No Tk:
252| Plain Glass 11mm X 24" X 24’ Nos. 04 | PerNo Tk:
253| Binding Tape Roll 12 | Per Roll Tk:
254| Rubber hose Connector 3/4” Nos. 100 | Per No Tk:

D:\All Tender Document\1. TENDER 25-26\1. Tender Schedule 25-26.doc

32




